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L EDFED LR ---a’—b*=(a+b)(a—Db)

acxX+(ad+box+bd=(ax+b)(cx+d)
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5l X24+8X+15=0 ® X2+11x+28=0 @ X+8x—9=0
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Bl X2+6X+9=0 ® X+4x+4=0 @ X*+10x+25=0
(X+3)?=0 (X+2)2=0 (X+5)2=0
X=—3 X=—2 X=—3

X2—16X+64=0 @ XxX—8x+16=0 X2—14X+49=0
(X—8)?=0 (X—4)?=0 (X—7)2=0
X=8 X=4 X=17

Bl x2—9=0 @ x*—25=0 @  x*—169=0
(X+3)(x—3)=0 (X+5)(x—5)=0 (X+13)(x—13)=0
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=t vl s N
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(3X+2)(2x+7)=0 (3X+1)(5X+3)=0 (2x—3)(3x+2)=0
_2 1 we 1 3 (3 2
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10X2—29X—21=0 @  12X*+23Xx—9=0 14x2—53X+45=0

(5X+3)(2Xx—7)=0
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(4X+9)(3x—1)=0
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@ X—45=0 @ X—36=0 ® X—81=0
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X=++[45 =35 X=+-[36 =6 X==+[81 =%9
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(X+11)’=20 (X+6)?=25 (X+2)?=64
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il 3(x—5)"—7=0 ® 2(x—1)’—11=0 @ 5(x—2)*—12=0
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“RABEXZEMEFL LS. B RX5[H=40 K)
Bl 3X2+5x+2=0 @ X2—9x+9=0
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5l 3x2+2mMx—m?=0 ®  4+5mx+m’=0 @  10X*—3mx—n¥=0
3x2242x2m—nY=0 4% 2245%x2mM+n?=0 10X 22—3 X 2m—m?=0
—Mmt+4m+12=0 M*+10m+16=0 —NP—6m+40=0
m—4m—12=0 (Mm+2)(Mm+8)=0 nm?+6m—40=0
(M+2)(M—6)=0 m=-—2, —8 (mM—4)(M+10)=0
m=-—2. 6 m=4., —10

@ 8x*—10mx+3nt=0 @ 12x*—23mx+5nt=0 ® 8x*—34mx+21nt=0

8x22—10x2m+3nt=0
3Mm—20m+32=0
(3m—8)(m—4)=0

m=S . 4

3\

12X 22—23%x2mM+5Mt=0
5N?f—46mM+48=0
(5m—6)(Mm—28)=0

m=§ 8

5\

8x22—34x2mM+21Mm*=0
21Mm—68m+32=0
(7Tm—4)(3m—8)=0

48
73




— 2__
ROARIE x="2D I w0 T FORORSERNB L. REURNSNY T,

FEADEBMERA S EHAX L VL, D=b"—4ac TRHFT,

D>0DLEXRYMEL2M@E. D=0DELERHKARI1E. DOD &L EXHMIO0MIZBYFET,

D=0 LZTDMREEMR(L SHNEVLNVET,

ZRABAORYMOBHENEFL £S5, (4 RX15[H=60 K)

il 3x2+5x+9=0 @ X+6X+9=0 @  2X+3x+5=0 @ 5X+9x+2=0
D=52—4%3x%9 D=62—4%1x%9 D=32—4%2x%5 D=92—4X5%2
=25—108=—83 =36—36=0 =9—40=-31 =81—40=41
EHMEE 0@ RHAEE 1 E RHAEL 0 1 EHMREE 2 @

@ 2+4x—7=0 ® 3I+Tx—1=0 ® X+8x—5=0 @ 4x+x—3=0
D=42—4%x2x(—7) D=72—4%x3x(—1) D=82—4x%x1x(—5) D=12—4X4%x(—3)
=16+56=72 =49+12=061 =64+20=284 =1+48=49
EHMEE 2 @ EHMEE 2 E EHME 2 E EHMEE 2 @

5X*—2X+8=0 @ 5X*—10x+5=0 6X2—3x+1=0 @ 2xX*—6x+4=0
D=(—2)"—4x5x%x8 D=(—10)2—4x5x5 D=(—3)?—4X6x%1 D=(—6)"—4%2x4
=4—160=—156 =100—100=0 =9—24=—15 =36—32=4
RHAEE 0 AL E REAEE 0 18 EHMEE 2 @

@ X—7x—6=0 ® 3X*—4x—9=0 4x2—x—2=0 ® TX—8x—4=0
D=(=7)2—4x1x(—6) D=(—4)2—4x3x(—9) D=(—1)2—4x4x(-2) D=(—8)2—4x7x(—4)
=49+24=73 =16+108=124 =1+4+32=33 =64+112=176
EHMEE 2 @ EHME 2 E EHMEE 2 E EHME 2 @

ROZRFEBANERLD 2 OOEYMEL DL E. EBMOFEEZROFELL S, G RAXIE=15R)

5l 3x*—5X+m=0 @  X+4x+m=0 @  2%+6x—m=0 @ 5X—Tx—m=0
(—5)2—4x3xm>0 £2—4x1xm>0 62+4%x2xm>0 (—=7)?+4x5xm>0
25—12m>0 16—4m>0 36+8m>0 494-20m>0
—12m>—25 —4m>—16 8m>—36 20m>—49

m
m<% <4 m>—% m<—%

ROZRFBANEMRZELD2EE, EEMOEEROELELS, G AXIM=15HK)

Bl | 2x2+8Xx—m=0 @  5X*+2X+m=0 @  4X*—6X+m=0 @  6X*—9X—m=0
824+4%x2xmM=0 22—4x5xm=0 (—6)2—4x4xm=0 (—9)+4%x6xXmM=0
64+8m=0 4—20m=0 36—16m=0 814+24m=0
8mM=—64 —20m=—4 —16m=—36 24m=-281
m=-—38 1 27

—— = m=——

5

4

8

~~

IZHSBOFAENEFEL LS, G RX2E=10R)
O HFEXOEBMEASDZKXZHAKXL LW, D=( b’—4ac )TRHFT,
@ D>0MEERHMA(2)E. D=0 0D & =EHAEI(1 MA. DO D & ERHEMA(0)BEIZBYET,




R7EX®

wEMEE. EIkTERMY DT RYET,

I PR B R

Frba I

BIEBICEZAFEFL LS, (20 RX5/=100 K)

Bl R& l14em OEH AB EIZEP LY. AP, PB £ X 10cm OE#H AB EIZEP £#&Y. AP, PB
EThTN 1 BETHIEABEEYET, ETNTN1BLETIERABEEVET,
2 DOEFHOEBEDOIA 106cm’ THD L &, 2 OOEAHOEREOMM 60cm* TH D L E.
AP DREEERDEL LS, (AP>PB &F3) AP DEEERDEL LS, (AP>PB &F3)
AP=X &3 %<&, PB=14—X AP=X &9 % &. PB=10—X
AP>PB &Y. X>14—X BDT, X>T+D AP>PB &Y. X>10—X BOT, X>5+@
X2+ (14—X)?=106cm? X2+ (10—X)?=60cm?
X2+196—28X+X2—106=0 X2+100—20X+X2—60=0
2X2—28X+90=0 o Xom . {l4=Xom 2X2—20X+40=0 - Xom . f19=Xm
Xe—14x+45=0 A tgom ™ B X2—10x+20=0 A qoomP B
(Xx—=9)(x=5)=0 x=9. 5 w02 ( 107 =4 X1 x20_10¢2\/§=51\/§
D&Y x=9. &>TAP=9cm 2x%1 2

D&k Y X=5+1/5. &>T AP=5+1/5¢m

@ #tAB=1 & ¥ 2#ERDEAT ABCD 15, AB=AC. BC=1D=%0=£&% ABC T.
WBCZ 1L I HEAKBCEF IV RYET, A AC EIZAD=1¢%G5RDELEVYZET,
%Y DR ADEF & &M ABCD H3a#RIZ7 % ABCD & AABC H#aflIch 3 L=, 1 AB OE
EZE.ABCHOERESZEZRDFELEL S, SEROEL &L S,
BC=X &¥5H&. DE=1—Xx P AB=AC=X &9 3 &. CD=X—1
ADEF 2 ABCD %M T, X ABCD» AABC D T,
AD : AB=DE : BC A - BC : AB=CD : BC
X:i1=1-X:X 1:X=x—1:1
&oT. X+Xx—1=0 Al e c &oT. X—=x—1=0
X —1[1P=4Xx1X(=1)_ =121/ X_1i\/(—1)2—4><1x(—1)_1i\/§

2%1 2 2x1 2

0<X BOT x=_1%5~ &oT BC=_1%E 0<X DT X= i &>T AB= %E

@ HHELY dem ROLWEAROMELHY FT, HELBROEL 1 2DRFHEOESHYET,

COEDABMS 1 AIMDEARENVERY.,
EXEEDOC R E. BREIE63cmICHBYET,
CDEE EABOHMOESEROHEL &L S,
MEXETEHE, BT XHS
BREIEEEXSESLOT.
(X—6) X (X+4—6)x 3=63
(X—6) X (X—2)=21

—8X+12=21 A3
—8x—9=0 aml 4o |
(X+1)(X—9)=0
X=—1, 9

0<X DT X=9. &>THDEZ==9%m

COED ABMS 1D 2cmDIEFHEIYRY .,
ERAGEEDCHE. BRI 60cmiICTRYET,
ZDEE REHOBMORSEROEL L S,
MEXETHLE. BT 2X
FREEAEREXESLOT,
(X—4) %X (2X—4) X 2=60
(X—8)X(2X—4)=30
2X—12x+16=30 /[ :
—6X—7=0 NN e
X+1)X=7)=0
X=—1, 17
0<XBDTX=1. &>THtODEE=Tcm




